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10 x 2 = 20

If a matrix has 16 elements, what are the possible orders it can have?

Construct a 3 x 3 matrix whose elements are a  = i jij
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If A =   then verify (A )  = A
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If A =  , B =  , find 4A - 3B.
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Show that the matrices A =  , B =   satisfy commutative property AB = BA[ ]
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If A =   prove that AA  = I.[ ]
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Verify that A  = I when A = 2 ( )
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In the matrix A =  


i) Number of the elements
ii) The order of the matrix
iii) Write the elements a , a , a , a , a , a .
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Find the values of x, y and z from the following equations.
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Find the values of x, y, z if


[ ] + [ ] = [ ]x y − z z + 3 y 4 3 4 8 16

6 x 5 = 30

If A =  , B =   and C =   then verify that A + (B + C) = (A +

B) + C.
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Find X and Y if X + Y =   and X - Y = [ ]
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If A =  , B =  , C =   verify that A(B + C) = AB + AC[ ]
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If A =   and B =   show that (AB)  = B A[ ]
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If A =   and I =   show that A  - (a + d) A = (bc - ad)I[ ]
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If A =   show that A  - 5A + 7I  = 0[ ]
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